Instrukcja instalacji ostony ramy/ Installation instruction for frame cover

MODEL YAMORO0166

/W sktad zestawu wchodzi (Rys. 1): \

1. Ostona ramy — 1 szt.
2. Sruba M8x40 mm — 1 szt.
3. Podktadka — 2 szt.

The set includes (Fig. 1) @

1. Frame cover—1 pc
2.Bolt M8x40 mm — 1 pc
3.Washer — 2 pcs

.

Mk

www.heed.com.pl

/ I

Ostona powinna by¢ zaktadane tylko przez osobe wykwalifikowang. Nalezy zwrdcié szczegdlng uwage na wigzki
elektryczne, przewody hamulcowe oraz inne elementy, aby nie byty przycisniete lub nie tarty podczas
eksploatacji z powodu zle przeprowadzonego montazu.

1. Wykreci¢ gérnag srube trzymajaca stelaz lewej stopki (Rys. 2 pkt. 2).
2. Wykreci¢ srube mocujaca gorna rolke ogranicznika tancucha (Rys. 2 pkt. 4).
3. W miejscu $rub wykreconych w krokach 1 i 2 przymocowac ostone ramy (Rys. 3 pkt. 1):
- w dolnej czesci uzy¢ sruby M8x40 mm (Rys. 1 i 3 pkt. 2)oraz 2 podktadek z zestawu, po jednej z
kazdej strony ostony (Rys. 1 pkt. 3),
- w gornej czesci uzy¢ fabrycznej sruby wykreconej w kroku 2 (Rys. 3 pkt. 4).
UWAGA! Po instalacji upewnic sie, Ze rolka ogranicznika lancucha obraca sie bez oporu.

Zalecane jest okresowe sprawdzenie poprawnosci dokrecenia wszystkich srub szczegdlnie w wypadku
zauwazenia jakichkolwiek wibracji elementéw produktu.

&)

Cover should be installed only by a qualified person. Pay particular attention to the electric beams, brake hoses
and and other parts, so that they are not pinched or they doesn't chafe during operation due to wrong
installation. .

1. Remove the upper bolt holding the left footpeg Fig. 2 pt. 2).
2. Remove the bolt holding the upper chain limiter roller (Fig. 2 pt. 4).
3. In place of the bolts removed in steps 1 and 2, attach the frame cover (Fig. 3 pt. 1):
- at the bottom use the M8x40 mm bolt (Fig. 1 and 3 pt. 2) and 2 washers from the set, one on each
side of the cover (Fig. 1 pt. 3),
- in the upper part use the factory bolt removed in step 2 (Fig. 3 pt. 4).
WARNING! After installation, make sure that the chain limiter roller spins without resistance.

It is recommended to periodically check the tightness of all bolts, especially if you notice any vibrations in the

\product components. /




Instrukcja instalacji ostony ramy/ Installation instruction for frame cover

MODEL YAMORO0166

Nnkek=iJ

Rys./ Fig. 1 3

www.heed.com.pl




